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Spot the Error: Why did you not
threw the notebook away?

A. did you not throw
B. had you not threw
C. did you not thrown
D. you did not thrown

Show Answer...
Correct Answer: A (did you not throw)

Explanation:

The correct answer is A, “did you not throw.”

The sentence contains an error in the past tense structure. The correct form
should be “did you not throw” because the past tense of “throw” is “threw.”

Option B, “had you not threw,” is not the correct answer because it uses the
wrong past tense form “had you not threw.” The correct past tense form is “had
you not thrown.”

Option C, “did you not thrown,” is not the correct answer. The verb “thrown” is
the past participle, which is used with helping verbs like “have” or “had.” In this
sentence, the correct form is “did you not throw.”

Option D, “you did not thrown,” is not the correct answer because it uses the
incorrect past tense form “thrown.” The correct form is “throw.”

In summary, the correct answer is A, “did you not throw,” as it uses the correct
past tense form of the verb “throw” in the sentence.
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